2.1) The modulus function



Worked example

Your turn

If f(x) = |4x + 5| — 6, find:
a) f(5)

b) f(=2)

<) f(1)

If f(x) =|2x — 3| + 1, find:
a) f£(5)

8

b) f(=2)

c) f(1)



Worked example Your turn

Sketch: Sketch:
y = |3x — 2| y = |2x — 3|

y = |2 — 3x|

@

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

Solve: Solve:
13x — 2| =7 |2x — 3| =5

x=-1,x=4

12 —-3x| =6




Worked example Your turn

Solve: Solve:

|5 2| =3 L 3 5 2 .
X = 3% |3x — 5| = —5X

1
|5—3x|=§x+2

-5
J

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

Solve: Solve:

1 1
|5x—2|<3—§x |3X—5|<2—§X

6

- <x<?2
5x

i /

1
|5—3x|£§x+2

-5
J

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

Solve: Solve:
1 1
|I5x — 2| >3 —=x 13x = 5| >2—=x
3 2
6
x<—=-Ux>2
5
A /

1
|5—3x|2§x+2

-5
J

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

Solve: Solve:
|x + 3] = 5x + 2 lx+ 1| =2x+5

Ix+3|=x4+2

o

Graphs used with permission from DESMOS: https://www.desmos.com/
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